1.

ax?* = (2a+c)x—1= (b—2)x* — ¢ 7} x 9] grofl TAglo]
H, a+ b+ c9| #& F5HH?

@® -1 @ 2 ® 4 @ 6

o2k

S

\z

[e3

A

oL

st



54 262~ 3y -2 = a(x — 1)(x - 2) + bx(x - 2) + ex(x - 1) ©] x
I35l FEAo] HEE St Al g, b, ¢l St a + 2b + 3¢ Q) FFe
Fstoiat,

Ch



flx) =3 —dx’ 4 2x -k 7h x -2 B IS /M o, & <]

@ 10 ® 12 @ 16 ® 20



4. X -6 82 AFEAFA? (B, F25 WeolA A5Ea stol

© ® © 0 6
=t e e w
[\
|
[\
=
|
N/
=
+
K



TR 2x° +ax? + bx 4+ 8°] x - 17} x - 22 Z}Z} Wipo] oA &
St A5 a, O] G20

®a=-2,b=-8 @ a=3,b=4

®a=-1,b=-3 @ a=4,b=-2

®a=-3,b="7



o
Hlo
,_m.o

Tod

A3 +2x+1=a(x-1)2+b(x-1)+col xl &

o

6.

@ 8 ® 6

@ 2

@ 3



i
oo

ro,
>
o,
N
rlo

)

Zad -b*c—ab® +a*c9

@ a-b+c @ c—a ® b+c

@ a-b ® c-b+a



8.

2o, a? + 0%+ 29 27 (

o}

L

,a,b,c

@ 5 @ 6 37

= A

.

g<r)

@ 8



9. AdEN = pgrE 2R E o, F oo AMre (n+
) (m+1)(I+1)°]ch o] off, 383 + 3382 +3-38 + 19| &F9] oF49]
i

@D 974 @ 1274 ® 167 @ 247 ® 327



10. 5 bl - 3x +2x, xi—dd 442 O] AThBORe HABHSE
Z

(x),g(x) 2t & o, £(3) + g(3) & 4f= Fo1H?

@ 19 3 20 @ o1 ® 2



11.

2O A x% +ax+ bE x% - 3x+ 22 s o, YA 7} 2x 4 1 9]
HEE A a, b9 3O S otoE)

D R
=%



120 (¥ +2x2 -3x+2)12x - 1)"= AARS o, ZE A=Y
Foholet,

D
=%

!

o
=



fE - x2EUFH3O YL 2 +x-62 UYFH x -1
i, f(x) & x* - 3x 4+ 22 Wz W] YA E R(x) 2H & ],
SEEEER

@ 2 ® 3 @ -2 ® -3



14.

, U A7 3 o)Al thk A f(x+2)
A= ax+4 °lth olHff, A4 a
o ( ) Qboll &tz e

o o
1

o t by
)
lo mjm
e
ool
40
%2 kY
I

Q,

o

s 10 L
]

fijo
R
[
g

Eol)f(x) B x-1 2 WS do ymArt3olng (@
oJtt.

fx+2) & (x+1)? 22 4F3de W9 & 0(x) = st
(®)---(Q)

(@ )2xo HF FTAIERE x=-1S HYsHH (©)
oJtt.

et (@ )olA (© )l

~—

© @ f1)=3

@ ®©f(x+2)=(x+1)%0(x) +ax+4
® ©f(-1)=-a+4

@D @D -a+4=3

® ©®a=1



@ Q(3)+4 ® 20(3)+3

@ Q3)+3



xofl Tt oFabA] 2x3 — 5a2 + ax + b7} TFHA] 22 — x4 2 2 Lpo|d
L5 A4 a, b0 3E AotH?

D a=70b=-6 @ a=6,b=-5 ® a=5b=-3

@ a=4,b=-5 ®a=3,b="17



17. f(x) 8 x— 12 ths o Y27} 30]c}, &, o]gfo] $& x+308
e Lo 217} 201 £(x) S x2 + 20— 3 0.2 Lhie Lol 2] 5tole),

D L
-



. R (x2) f (%) B x—-1 2 Ue UHAZE9, TRk (2x-3) f(3x-7)

2 x-3082 e Y7} —30]ch. o]u] il £(x) B (x—1)(x—2)
R E

@ —4x+7 @ -4x-3 ® 2x+3

@ 2x-3 ® 3x-1



f(x) = x* +ax+ bl ot f(x) -2+ x - 12 UHro
I f(x)+2€ x4+ 12 Wro] ok, o] uff, -2 9] 2



20- E‘ﬂ'@"l}f(x):x3_ax+b’g(x):x2+ax_2b91 Z/]EH%CL}:—/]\—7]-
x-19 1, f(x),g(x) o H2FHl5E FoHA?

D (x-1)2(x+1)(x+2) @ (x—1)2(x+4)(x +2)
® (x—1)(x+1)%*(x+2) @ (x-1)(x+4)2(x+2)

® (x=1)(x+4)(x+2)



